5 10 15 20 25

| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

05 =50-15-10 =5 0

| N of associated (recoToSim) looper tracks vs dz |

0 o
o o
o
N
o
ﬁ Y
o
— o
—
LD
o o
Uel
! =}
o —
4. I
LD .
i . o
| B N
S Sl
! .
[te} 1 o
N ) M
s! s 3l
S
n
N
(=3
o
LD
—
o —
-~ 3
[ts) H
L
o |z
10 g
3
o
b H
I ¢
£ £
! 3
S g
. . . . N ]
; H
PP PP PYRIP PP PYPIP PP ™ L 9 2
[ B3 ) ~ =) — = ) ©
o o o o =1 ] 5
- — - - o =

-10

-20

0

r)
o
—

'=25-20-15-10-5 0 5 10 15 20 25

0.

N of reco track vs dz

N
o
—

0.95/
O



	Contents
	Page 1


